117/DM/18

Register
Number

DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS

(Without Books)

Maximum Time : 1.30 hours Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
fleuren eflen L wefl&@ D cuans ellemrggmer

Read the following instructions carefully before beginning to answer the questions.

clanmméaens@ ellanwefllss QasTLBRIGLD (WPeTL| EPESHETL D6 ISEMmET SEUETLONS LilgSHeLD.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

ellenL_sener @GOG (HeTer eranmantlGanss@ 2idswns erpdlulmiien, elenggrafler @mdluied o arer
9185 eramranilEansudemer ellenLgar S LISTEH QFliutiLiLTg).

2. In case of doubt, English version is the final.

lammssafle sHCssL0lmHLGem pmidla algaia arhssliul(Herer allammssCer @mslwmeag,).

I. Answer any THREE questions : 3 x7=21)
aaneuGugd ppearn larTssEnsE tlanLwall&Eseab :

1. Calculate median and mode of the data given below using them find arithmetic mean.
Qan_flevaw eraneu wHMID wWpsH WwHliGenear Spseam cleursHeaar Qameam®p sarsdHs. Goaib,
@eupmlern wdllianu Qarem( srmaflew sarésleyb.

Marks / wdiGuesrser : 10 20 30 40 50 60
No. of students / wrewreuiseflen eramreniléens : 8 23 45 65 75 80
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II.

Calculate the standard deviation for the following data :

Geeu(pid efleuymisEns@ S L lsssdamen samas(H Clauiweab.
Age under / cuwidlm e : 10 20 30 40 50 60 70 80
No. of persons dying / @nuiysefler eremrentiens : 15 30 53 75 100 110 115 125

Find the interquartile range and co-efficient of quartile deviation from the following data :

Geseu(mid efleuhisEhs @ @l sraLmer 6i&s Hmib srewmer Gl&palaer se(h Ly H&e L.

Marks in statistics / yereflulwe wdliiGuewr :  above 0 10 20 30 40 50 60 70 80
No. of students / wranreuiisefler eramrenisans : 150 140 100 80 80 70 30 14 O

Find the co-efficient of the correlation for the following :

Gerreumeuameum ey @) B @L-(Hme Capeiamen sammad (hs.
Cost / Qgeey : 39 65 62 90 82 75 25 98 36 78

Sales / elpuewerr: 47 53 58 86 62 68 60 91 51 84

A problem in statistics is given to 5 students, A, B, C, D and E. Their chances of solving it
1111

are —,—,—,—
2°'34°5

1
and re What is the probability that the problem will be solved?

yeratlwe Qsmrumer ¢ savsdlanar 5 wrameauiser A, B, C, D womib E&E euwphsiiu(Bdng.

1111 ) 1

Seng ETLLSHSTET eUTILILSET 315 LOHmID R <5 QU oiGsaTsams STILISHST6n

BlEDSEH6 cTemen?

Answer any THREE questions only : B x5=15)
aaneuCGugyd epenn elarmssEnsE tlenLwallsse]b :

A salesman has a 60 percent chance of making a sale to each customer. The behaviour of
successive customers is independent. If two customers A and B enter what probability that
the salesman will make a sale to A or B?

@@ elhumeanurert eeubeur eumgsmswreri(pd edbuemer Geleugnarer eumili 60
sgeildlgong @mLUben, eeubleum aumgsaswmearilen HL el &maLb sTTUDHDSTS @)MSEL Gurg, A
womib B ullib oips ellbhueamearnurert ellhueer CElieushsamen Hlapsse] eTere?

Write a short note on stratified random sampling

UGS aperm wrdfl sewtlliLy pavmepw LuHM SAmEHILIL eT(pgIs.
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10.

I11.

11.

12.

13.

14.

What are the types of correlation? Explain briefly.

L (Hmeller auanaseT Wreneu? &(HESsLTE el fésea .

What are the properties of a good estimator?

B &6t @MW LIGwTL|SET Wimene?

What is skewness? Explain the main types of skewed curves.

CHMLLLD 6TETDITeL GTEITEN? DS (LPHEIW eUenSHSemeT 64leTése,LD.

Answer any EIGHT questions : (8x3 =24)
aanauCugb T () NaTT&EsEHsE el well&saw :

Find the value of mode from the data given below :

Epaar_ efleurmisafien 2iiq il uled (s wHileamer sarHiweyb.

Weight in kg / No. of students /
Tl (FGam)  wrewreuseflen eremrant&Hangs
93-97 2

98-102 5

103-107 12

108-112 17

113-117 14

118-122

123-127

128-132

State any three properties of normal distribution.

@uieblenay LiTeualer Fgrealg) S LiewLsemer elleuflése,ib.

Distinguish between independent and dependent events.

FTTUMHM WHMID FTT e W Blaspsslsamer CaumuBhsss sm(hs.

One card is drawn from a standard pack of 52. What is the probability that it is either a king
or a queen?

52 & (haer Qamar e (0 s 1q0HHE @ Lol CaibosHhEEn QUMLE Sig QTmam Sdeg
@nrenfluing @@mUushanean Hlepsse] eTere?
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15.

16.

17.

18.

19.

20.

What are the two types of errors in testing of hypothesis?

T (HCamer Garganaruiley o arer @ e (h euanswimen LAaLpaET WTenel?

Define the following :

(a) Positive correlation

(b) Negative correlation

(¢) Multiple correlation
Yemeu(meuaTelHenm F(HSsLs elleuflEgsa]b.
(<) GpiloL gL Gey

(=) adiflor er@pey

(@) Qu@ss @ Ope

State any two merits and demerits of sampling techniques.

wrSlfl ;i ugslen Qe Hlepm LOHMILD GHEDMSEET 6T(LHS)S.

From the following data of the wages of 7 workers compute the median wage.

Gemeupd 7 Ggmlemerisetien Slarsnead efleurmsatien g liLamLuld el Hlane ereneu seammadl (Hs.
Wages / flangall (in Rs. /em.) : 1100 1150 1080 1120 1200 1160 1400

Find the probability of drawing a queen, a king and a knave (jack) in that order from a pack
of cards in three consecutive draws, the cards drawn not being replaced.

S meugdeor parmudled ¢ S0 sliqeBbE @ Frant, @b FTRT WHMID 6 §3Nd 6reimn
auflenguller CaibElsHLULISDHSTaN Fl&Lpss6| eTeren?

Define the role of Poisson distribution in statistics.

yereflweded umigmes ugeuadler Likidlenar edleufl&saLd.
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